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Chemistry Worksheet Name:
Reaction Types Block:

Write the products for each chemical reaction, including states. Then balance the chemical
equation. Fill in all coefficients, including those for which the value is one (1).

1. Synthesis Reactions (S) (direct combination — redox):
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2. Decomposition Reactions (D) (often redox, sometimes metathesis):
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a. __K(s)+ aBr (ag) — T\\ors\~\~ \Z\%” Log) ;
_;;2_ Lis) + 1gBr2 (ag) — {Y\&cs\—\ D C, g /aa
g_m% Cla ag) = _o e

@ Nal (ag) —
4. Precipitation Reactions (PR) (“double replacement”, “double displacement” — metathesis):

a! . L AgNOj(ag)+ o NaCl(ag) — Aa(\ \eg) 4 '\)n I\ 30? 1463

b. _ BaClhp + __ KiCOs(a) — Q\a (Y e 05 &\4(,\ (o,

__ FeCls(ag) +5_N30H (ag) — \:’ (O Qo A 5 +< 1’\)n (c.é)

P

g

C.
d (NH):SOs(ag) + ___ Pb(NOs); (ag) — cQ i\J\\u MO Cas) t PhSC)q ¢S
:
Copyright 2008 by the chemistry teachers at Newton South High School, Newton, MA 02459 Page 1 of 2
:

Scanned by CamScanner



